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WRE T AT S LA 4 1R

Vg
04B

HEMSR A SSAEMAE 4 B IO o
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Bl pa=Vy, ab=V .., pb=V,,, pc=V,, cd=Vy, pd=V..
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E A © =7.54 rad/s, Le,=110.00 mm, #4142 S5H4F 3 A s0E] B #HEC, 7530
ans=aa= © 2L02a=6.25 m/s’

R4 N TR A 4 1 AR

Wy = Wy = ——LZEB—2.39 rad/s

HEMSR A SSAERIAE 4 B IO i o

18



324 = W 421L04A=1.86 1'1'1/52
BEMI RS A SAERT 4 FIRGLE 3 b At IR
a§4_A3 =2 3VA4A3:1'37 l'l'l/S2

PAA mORWFFERT B, B I R R R

A= ajy + Ay = axg + Az + Ahas
Jl: 7 /04B 1 OB /O2A LO4B  //04B
KA 2 J ? J J ?
RS
aas=3.54 m/s?,
aas=4.00 m/s?,
aasa3=7.73 m/s%,
H S8 AT 15

agp = agz = %:9.97 m/s?
CRN Ve, CARXS T B AUV [r) ek

ak, = ——VEB—O 101 m/s?
CB = .
LcB

LA CB B FEXS 5, A Y INTd R &y e
ac = ag + app + agp
Jilm: K¥ v /CB LCB
Ko 2 W v ?
R I ik 22 1 N 2 2 30 7

19



3-3 IniEE 2L

_ _ k _ r _ n _ T _ _ . n . T _
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SRAF S RUINIRE
I (m/s2)
ay Ay Aupns Ay ay ay ay ac ag ac
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AR EAY R
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Kl 3-5 FF4L 34 21T
LRI 2 92 IR IEAT 2 9100 W, K 2 W BIR 1 3 2k 2 K70 By, F
BT 2 1977 Flye
F34 = F43 = Fy3 = F3;
B T T3 R
F3, + F1, =0
Al ?
Kb V2
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K 3-6 T4 2 2 i

(CEAPALF e SN
H I (N
F6 F16 F56 F14 P4 F34 F12 | Mb (Nm)
568.04 |599.90 |569.40 |2104.25 | 78.93 | 1440.83 | 1440.83 | -148.68

Paray = -A D N
EMNE 3T
MR Fe ) E AN E A SR (RN B2 shiEs), MARPEh =

2\/2].4%9]) + cosP KT E A WD), h/r=, T ro=56mm, HX r,=56mm, r,=10mm,
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1. ®yipE

30 35 40 50
5

35 40 50
5:’.0

h/n f’ 18) K i 2

60

35 55 P11
40 45 =0

 4-1 i
BN 1E B T RE N -

FEINEMEFEB: s=2h62/85

SEJREAMEREB: s=h—2h(8,— 8)2/83

ENERIFEB: s=h—2h62%/67

SEPRIERIFEBL: s=2h(8'— §)2/ 52

RIZINEHFEB: s =h[1—cos(x 8 /8 )]/2
RIZINEFFEB: s =h[1+ cos(x 8/87)]/2

IESZ I HEREEL: s=h[ (8 /8,—sin(2n 8§ /8 )]/ (21)

X EFEB: s=h[1— (8/8%) +sin(2x §/69]/ (271)
AR R TTRE N :

X = (sg +s)sin & + ecos &

y = (sg +s)cos 8 —esin b
PR SRR 2 T AR
X' =X —rpcos 6

y'=y—r.sin6
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FHE ARFIT
RYERE I CAEAE, S50 NT 17 S R A RYIER x= (17-2) /2
AN R AU 2715, FTBLEOSRAN R4 x,=0.12 5 x,=-0.12 o #EHL
TiE R ¥ h, =1, TR R C=0.25. HHE GRS TEHI T
S FE R B AE d,=2,m=90.00 mm
d,=z,m=228.00 mm
A E 4% d,,=d,cos a =84.57 mm
d,,=d,cos a =214.25 mm
HUL PR a=(d,+d,) /2=159.00 mm
Wil h,= (h,+x1) m=6.71 mm
h,,= (h,+x2) m=5.29 mm
Vit & hy= (b, +C—x1) m=6.79 mm
h,= (h,*C"-x2) m=8.21 mm
i 4% h=h,+h,=13.50 mm
VTR B4 d,=d,+2h,=103.41 mm
d,,=d,+2h,=238.59 mm
VitR A B 4% d,=d,~2h,=76.41 mm
d;,=d,~2h=211.59 mm
W& s=s,= 1m/2=9.42mm
TRIA & S1f/f a =arccos (r,cos a /r,)=35.13 °
a ,~arccos (r,cos a /r,,)=26.10 °
N T RIEZ N BEIESLAE D), WNERERE =1
Hl
§ .=[z,(tana ,~tana’ )+z,(tana ,~tana’ )]/2/n =1
PRI MG 5
a’ <arctan[(z,tana ,+z,tana ,~2m)/(z,+z,) 1=23.36 °
TRA TRIEZ AR R IE AL S, O PR R 2505 2

al<<acosa /cosa’ =162.75 mm

28



MR ERIRT, S ST b B AL BRI, 2l A s & B R

R,
20>
»

Riig
1

K 5-1 Kidems &K

29



BLtE B4

WAL AR A F, IR YIE T N, ERFIINE DRSS
WA B RIS AR, AR R AT T, O B R, PO E
1 25 T3 45

FERXJURT, HARZ AL, RNt R 2 0 Em, DU THEL
WBhEIN S, SRR AR, LA AR ARG . BB
PR TVFZ AR, WAL T H QLARREMIfE L, AESX AR 5> TAEA
WA AR EE AR 1 KR S 1B T RIRES, R 2R T AERE
FE AR IR AT DI R B 10 o BRORIXAN B THEU AT REAN KBS, (E BTk
SR, AR ERA TRITHIR R K, BRIt EE s 7B R ARG
M THAS, FHFYPEERE TSt s i H 5% RN BBk 73T sT6E
71 WAL RRE ST, DLEAE AN Z B EAE . EX AT Jm A TG A AR
ARKIIFE

2%, EONE QSR bt R EEARZHAL, HEZEXILRK
Pigs, H EH CAD L KA 1 — € I3y, JEXSPTA R iR a1t — 2D .
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F BR AT R 2% XA AESRABL T XA BRI =24 7, A IR 2 H 1
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